



B.Com. DEGREE EXAMINATION — 
JULY, 2008.

First Year

Bank Management

PRINCIPLES OF ACCOUNTING

Time : 3 hours
Maximum marks : 75

SECTION A — (3 ( 5 = 15 marks)

Answer any THREE questions in not exceeding 
1 page each.

1. What are the non-profit organisations? Name the accounts maintained by them.

C»õ£® (Â¯õ£õµ)  ÷|õUP® CÀ»õu {ÖÁÚ[PÒ ¯õøÁ? A¢{ÖÁÚ[PÒ  £µõ©›US® PnUSPøÍ TÖP.

2. What are the differences between consignment and joint ventures?

AÝ¨¥miØS® CønÂøÚ PnUQØS®  EÒÍ  ÷ÁÖ£õkPÒ ¯õøÁ?

3. A Receives three promissory notes from B on 1.4.04 for 3 months. One Bill for Rs. 3,000, the second for Rs. 5,000 and the third for Rs. 6,000. Second bill is endorsed to C ; Third bill discounted for Rs. 5,900.

All the Bills were met on due date. Pass journal entries in the books of A.

B°hª¸¢x A 3 ©õØÖa^mkPøÍ 3 ©õu öPkÂÀ 1.4.04À ö£ØÓõº.  •uÀ ^mk ¹. 3,000US® ; CµshõÁx ^mk ¹. 5,000US® ; ‰ßÓõÁx ^mk ¹. 6,000US® ö£ØÖU öPõshõº.

CµshõÁx ^mk CUS ©õØÔ uµ¨£mhx. ‰ßÓõÁx ^mk Á[Q°À ¹. 5,900US Ámh® ö\´¯¨£mhx.

uÁøn |õÎÀ ‰ßÖ ^mkPÐ® ©vUP¨£mhÚ GÚU öPõsk ÷uøÁ¯õÚ  £vÄPøÍ A°ß HmiÀ £vUPÄ®.  

4. X Ltd insured its stock for Rs. 50,000. Fire accident destroyed its stock worth Rs. 80,000. Stock salvaged Rs. 20,000. There was average clause in the policy. Calculate the claim to be made and admitted by the insurance company.

X ¼m ußÝøh¯ \µUQøÚ ¹. 50,000US Põ¨¥k ö\´xÒÍx. w Â£zx  HØ£mk ¹. 80,000 ©v¨¦øh¯ \µUS wUQøµ¯õÚx. Põ¨£õØÓ£mh \µUQß ©v¨¦ 
¹. 20,000. Põ¨¥k £zvµzvÀ \µõ\› åµzx EÒÍx. C¢{Ö©® ÷Põµ÷Ási¯ |mh Dk GÆÁÍÄ ; Põ¨¥k {ÖÁÚ® AÝ©vUS® |mh Dk GÆÁÍÄ GÚ Psk¤iUPÄ®.

5. David-a sole Trader keeps his books of account by single entry. His position was as follows 

Balance sheet as on 1.4.04

	
	Rs.
	
	Rs.

	Bills payable 
	6,200
	Cash 
	14,150

	Creditors 
	20,000
	Bills receivable 
	4,600

	Capital 
	1,60,000
	Debtors 
	48,650

	
	
	Stock 
	33,800

	
	
	Machinery 
	80,000

	
	
	Furniture 
	5,000

	
	1,86,200
	
	1,86,200


On 31.03.05 the following was his position 

	
	
Rs.

	Cash 
	16,200

	Creditors 
	21,200

	Stock 
	36,700

	Debtors 
	66,300

	Bills payable 
	600

	Bills receivable 
	8,800


Machinery and furniture to be depreciated by 10% He had with drawn Rs. 18,000 for his own use.

Find the profit / loss made by him during the year.

÷hÂm – uÛ©Ûuß Â¯õ£õ› ußÝøh¯ PnUQøÚ JØøÓ¨£vÄ •øÓ°À £µõ©›zx Á¸QÓõº. AÁ¸øh¯ ö\õzx  ö£õÖ¨¦ {ø»ø© ¤ßÁ¸©õÖ.

C¸¨¦ {ø» SÔ¨¦ 1.4.04
	
	¹.
	
	¹.

	ö\¾zxÁuØPõÚ  
	
	öµõUP® 
	14,150

	  Esi¯À
	6,200
	ö£Ó uUP Esi¯ÀPÒ 
	4,600

	Phß D¢÷uõº 
	20,000
	PhÚõÎPÒ 
	48,650

	•uÀ
	1,60,000
	\µUS 
	33,800

	
	
	C¯¢vµ® 
	80,000

	
	
	AøÓP»ß 
	5,000

	
	1,86,200
	
	1,86,200


31.3.05 À •iÁøh²® BsiÀ AÁµx {ø»ø© RÌPshÁõÖ C¸¢ux.
	
	¹.

	öµõUP® 
	16,200

	Phß D¢÷uõº 
	21,200

	\µUS
	36,700

	PhÚõÎPÒ 
	66,300

	ö\¾ÁuØS›¯ Esi¯ÀPÒ 
	600

	ÁµÄUS›¯ Esi¯ÀPÒ 
	8,800


C¯¢vµzvß «x® AøÓP»ß «x® 10% ÷u´©õÚ® PnUQhÄ®.  ö\õ¢u ö\»ÄUPõP AÁµx Gk¨¦ ¹. 18,000

|h¨¦ BsiÀ AÁº Dmi¯ C»õ£® AÀ»x |mh® GÆÁÍÄ GÚ Psk¨¤i.

SECTION B — (4 ( 15 = 60 marks)   

Answer any FOUR questions.

6. From the following information relating to Indian cricket club, prepare Income and Expenditure account for the year ending 31.3.06 and balance sheet as on that date.

Receipts and payments a/c

	Receipts
	Rs.
	payments
	Rs.

	To Subscription
	5,000
	By upkeep of 
	

	
	
	  ground
	2,000

	’’ Admission fee
	300
	’’ Special match 
	

	’’ Sale of old balls 
	50
	  expenses
	700

	’’ Ground rent 
	300
	’’ Rate and  
	

	’’ Special subscription for
	
	       insurance
	200

	     matches 
	1,000
	’’ Telephone 
	50

	’’ Bank drawn 
	4,000
	’’ Printing 
	100

	’’ Donation 
	10,000
	’’ General expenses 
	50

	
	
	’’Secretary salary 
	170

	
	
	’’ Grass seeds
	30

	
	
	’’ Bats and Balls
	700

	
	
	’’ Bank deposits 
	16,650

	
	20,650
	
	20,650


Assets on 1.4.05 

	
	
Rs.

	Bank 
	3,000

	Stock of balls 
	1,500

	Printing stock 
	200

	Subscription due 
	500

	Liabilities 
	Nil


Donation and surplus of matches to be kept separate. Subscription due on 31.3.06 was Rs. 750; write off 50% of bats and balls.

RÌUPsh uPÁÀPÎ¼¸¢x Á¸Áõ´ ö\»ÂÚ[PÒ PnUøP²®, C¸¨¦ {ø» SÔ¨ø£²® u¯õ›UPÄ®.

ö£ÖuÀ / ö\¾zxuÀ PnUS 31.3.06

	ö£ÖuÀ
	¹.
	ö\¾zxuÀ
	¹.

	\¢uõ 
	5,000
	ø©uõÚ® £µõ©›¨¦ 
	2,000

	~øÇÄ Pmhn® 
	300
	÷£õmiPÒ |hzv¯
	

	£øÇ¯ £¢x ©møhPÒ 
	
	 ö\»Ä 
	700

	  ÂØ£øÚ 
	50
	Á›²®/Põ¨¥k®
	200

	ø©uõÚ ÁõhøP 
	300
	öuõø»÷£]
	50

	÷£õmiPÒ |hzu ]Ó¨¦ 
	
	Aa\Pa ö\»Ä 
	100

	  \¢uõ
	1,000
	ö£õx ö\»ÄPÒ 
	50

	Á[Q°À Gkzux
	4,000
	ö\¯»õÍº \®£Í® 
	170

	|ßöPõøh
	10,000
	ÂøuPÒ  Áõ[Q¯x 
	30

	
	
	©møhPÒ / £¢xPÒ
	

	
	
	   Áõ[Q¯x
	700

	
	
	Á[Q°À 
	

	
	
	  ö\¾zv¯x 
	16,650

	
	20,650
	
	20,650


1.4.05À ö\õzxUPÒ

	
	¹.

	Á[Q C¸¨¦ 
	3,000

	©møhPÒ / £¢xPÒ 
	1,500

	Aa_PÒ C¸¨¦ 
	200

	\¢uõ {¾øÁ 
	500

	ö£õÖ¨¦PÒ
	CÀø»


|ßöPõøh²®, ÷£õmiPÎß E£›²® uÛ¯õP JxUQ øÁUP¨£h÷Ásk®. 31.3.06 {¾øÁ \¢uõ ¹. 750. ©møhPÒ ©ØÖ® £¢xPÒ 50% ÷u´©õÚ® PnUQhÄ®.

7. A head office in Chennai has a Branch in Madurai to which goods are invoiced at cost plus 25%. From the following particulars show how the Branch Account will appear in Head Office Books.

	
	
Rs.

	Stock on 1.4.05 (invoice price)
	12,500

	Debtors on 1.4.05
	12,000

	Goods sent from Chennai
	40,000

	Cash sales 
	16,000

	Cash received for credit sales 
	29,500

	Goods returned to Chennai 
	2,400

	Cheques from Chennai :
	

	Wages and Salaries 
	11,000

	Rent and Taxes 
	3,000

	Sundry expenses 
	510

	Stock on 31.3.06 (invoice price)
	15,000

	Debtors on 31.3.06
	22,500


ö\ßøÚ°À EÒÍ uø»ø©  PÇPzvØS ©xøµ°À QøÍ {ÖÁÚ® EÒÍx. AhUP Âø»°À 25% Tmh¨£mk \µUS AÝ¨£¨£kQßÓx. RÌPsh uPÁÀPÎ¼¸¢x, uø»ø© {ÖÁÚ HmiÀ QøÍU PnUS G¨£i Põs¤UP¨£k®?

	
	¹.

	Chõ¨¦ Âø»°À öuõhUP \µUS 1.4.05
	12,500

	PhÚõÎPÒ (1.4.05)
	12,000

	Chõ¨¦ Âø»°À AÝ¨¤¯ \µUS 
	40,000

	öµõUP ÂØ£øÚ 
	16,000

	QøÍ PhÚõÎ°h® ö£ØÓ öµõUP®
	29,500

	uø»ø©US v¸¨¤ AÝ¨¤¯ \µUS 
	2,400

	ö\ßøÚ°À C¸¢x AÝ¨¤¯ Põ÷\õø»
	

	T¼²® ©ØÖ® \®£Í•®
	11,000

	ÁõhøP²®/Á›²® 
	3,000

	]À»øµ ö\»ÄPÒ 
	510

	CÖv \µUS Chõ¨¦ Âø»°À 31.3.06
	15,000

	PhÚõÎPÒ (31.3.06)
	22,500


8. On 1.7.01 A Ltd purchases a machine for 
Rs. 23,000. On 1.1.02, the firm purchases new machinery for Rs. 12,000. On 30.6.03, the machinery purchased on 1.1.02 was sold for Rs. 8,000 and on 1.7.03, a new machinery was purchased for Rs. 15,000.

The company writes off 10% depreciation on the original cost. The accounts are closed on 31st March each year.

Show the machinery account for the years ending 31.3.04.

1.7.01À A ¼m {Ö©® C¯¢vµ® JßøÓ ¹. 23,000   Áõ[Q¯x. ÷©¾® 1.1.02À CµshõÁx C¯¢vµzøu 
¹. 12,000 US Áõ[Q¯x. 30.6.03À CµshõÁx C¯¢vµzøu  ¹. 8,000US ÂØÓx. 1.7.03À ‰ßÓõÁx C¯¢vµzøu ¹. 15,000US Áõ[Q¯x.

C¢u {ÖÁÚ® 10% ÷u´©õÚ® AhUPÂø»°À PnUQmk Á¢ux.

C¯¢vµ PnUøP 31.3.04À •iÁøh²® Bsk Áøµ u¯õ›UPÄ®.

9. X Owes Rs. 6,700 on 1.4.05. The following further transactions take place between X and Y

	
	
Rs.

	16.4.05 X buys goods 
	7,000

	2.5.05 X Receives cash 
	5,500

	5.6.05 X buys goods
	4,000


X pays the whole amount on 30.6.05 together with interest at 10% p.a. 

Find the total amount paid.

1.4.05À YUS X uµ÷Ási¯  öuõøP ¹. 6,700. RÌUPsh |hÁiUøPPÒ |øhö£ØÓÚ.

	
	¹.

	16.4.05À X öPõÒ•uÀ ö\´ux
	7,000

	2.5.05À X ö£ØÓ  öµõUP®
	5,500

	5.6.05À X öPõÒ•uÀ ö\´ux
	4,000


30.6.05À ö©õzu  £õUQø¯²® 10% (p.a.)  Ámi²hß X öPõkzuõº.

AÁº öPõkzu ö©õzu öuõøPø¯ PnUQhÄ®.

10. What are the bases adopted while apportioning various expenses in departmental profit and loss account?

xøÓÁõ› C»õ£/|mh PnUS u¯õ›UP¨£k® ÷£õx £Ø£» ö\»ÄPÒ Guß Ai¨£øh°À  ¤›UP¨£kQßÓÚ?

11. Karim and Saleem entered into a joint venture in goods. Profits were to be shared equally. Karim was to purchase goods and send it to Salim who would sell it.

On 1.3.03 Karim purchased goods for 
Rs. 1,00,000 and incurred Rs. 6,000 as expenses on forwarding it to Saleem. He immediately drew upon Salim for Rs. 1,00,000 for 3 months. The acceptance was discounted at 6% p.a.

Salim paid Rs. 10,000 as freight Rs. 5,000 as commission to agent and Rs. 2,000 as rent. The goods was sold for Rs. 1,60,000. Salim forwarded a cheque to Karim for the amount due on 30.6.03

Prepare ledger accounts in the book of both the parties.

PŸ® ©ØÖ® \½® \µUS ÂØ£øÚ ö\´¯ CønÂøÚ J¨£¢u® ö\´uÚº. C»õ£ / |mh[PÒ \©©õP ¤›UP¨£h ÷Ásk®. PŸ® \µUQøÚ Áõ[Q \½•US AÝ¨£÷Ásk®.

1.3.03 À PŸ® ¹. 1,00,000US \µUS Áõ[QÚõº. 
¹. 6,000 ö\»Ä ö\´x \½•US AÝ¨¤Úõº. \½® «x 
3 ©õu uÁøn°À ¹. 1,00,000 ©õØÓUTi¯ ©õØÖa^mk GÊv Áõ[QÚõº. AuøÚ Á[Q°À 6% Ámh® ö\´x £nzøu ö£ØÓõº.

\½® Ásia \zu©õP ¹. 10,000 •PÁ¸US uµPõP 
¹. 5,000, ÁõhøP¯õP ¹. 2,000 ö\»Ä ö\´uõº. Aa \µUQøÚ ¹. 1,60,000US ÂØ£øÚ ö\´uõº.

30.6.03À P›•US Põ÷\õø» AÝ¨¤Úõº.

÷uøÁ¯õÚ PnUSPøÍ C¸Áº Hmi¾® u¯õ›UPÄ®.

12. The final accounts for the year ending 31.3.06 to be prepared from the Trial Balance given below.

	Debits 
	Rs.
	Credits
	Rs.

	Drawings 
	3,000
	Capital 
	62,500

	Purchases 
	16,000
	Sales 
	1,00,000

	Sales returns 
	1,000
	Discount received 
	500

	Wages 
	6,000
	Creditors 
	12,000

	Carriage 
	2,000
	Loan 
	20,000

	Salary 
	9,000
	Returns outwards
	
1,000

	Insurance 
	3,000
	Rent received 
	3,000

	Loan to Z at. 10% p.a. on 
	10,000
	Reserve for bad  
	1,000

	   1.10.05
	
	  debts
	

	Debtors 
	20,000
	
	

	Buildings
	50,000
	
	

	Machinery 
	25,000
	
	

	Furniture 
	10,000
	
	

	Travelling expenses 
	2,000
	
	

	Bad debts 
	1,000
	
	

	Discount allowed 
	600
	
	

	Postage 
	1,000
	
	

	Taxes 
	4,000
	
	

	Cash in hand 
	6,000
	
	

	Cash at Bank 
	10,000
	
	

	Opening Stock 
	20,400
	
	

	
	2,00,000
	
	2,00,000


Adjustments :

(a)
Closing stock Rs. 20,000

(b)
Depreciate : 
Machinery 10%





Furniture 5%

(c)
Prepaid Insurance Rs. 250

(d)
Interest on capital @ 5% p.a.

(e)
Salary due Rs. 2,500

RÌUPsh C¸¨¦ ÷\õuøÚ  £mi¯¼¼¸¢x 31.3.06À •iÁøh²® BsiØUPõÚ CÖv PnUSPøÍ u¯õ›UPÄ®.

C¸¨¦ ÷\õuøÚ £mi¯À

	£ØÖPÒ 
	¹.
	ÁµÄPÒ
	¹.

	Gk¨¦ 
	3,000
	•uÀ
	62,500

	öPõÒ•uÀ 
	16,000
	ÂØ£øÚ 
	1,00,000

	EÒ v¸¨£® 
	1,000
	ö£ØÓ uÒÐ£i
	500

	T¼
	6,000
	PhÜ¢÷uõº
	12,000

	EÒyUS T¼ 
	2,000
	Phß 
	20,000

	Fv¯® 
	9,000
	öÁÎ v¸¨£®
	1,000

	Põ¨¥k 
	3,000
	ö£ØÓ ÁõhøP 
	3,000

	Z US Phß 10% 
	10,000
	I¯UPhß Põ¨¦ 
	1,000

	   1.10.05À öPõkzux
	
	
	

	PhÚõÎPÒ 
	20,000
	
	

	Pmhh®
	50,000
	
	

	C¯¢vµ® 
	25,000
	
	

	AøÓP»ß 
	10,000
	
	

	¤µ¯õna ö\»ÄPÒ 
	2,000
	
	

	ÁµõUPhß
	1,000
	
	

	AÝ©vzu uÒÐ£i 
	600
	
	

	u£õÀ (Ag\À)
	1,000
	
	

	Á›PÒ 
	4,000
	
	

	öµõUP® 
	6,000
	
	

	Á[Q C¸¨¦ 
	10,000
	
	

	öuõhUP \µUS 
	20,400
	
	

	
	2,00,000
	
	2,00,000


\›UPmh£h ÷Ási¯øÁ :

(A)
CÖv \µUS ¹. 20,0000

(B)
÷u´©õÚ® : 
C¯¢vµ® 10%





AøÓP»ß 5%

(C)
 •ß Tmi÷¯ ö\¾zv¯ Põ¨¥k ¹. 250

(D)
•uÀ «x Ámi 5% (Á¸hzvØS)

(E)
Fv¯® {¾øÁ ¹. 2,500

———————
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